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Sifleyeoraen : (1) wiwanss eflamésend sflwns il ufeurd e aargr aarugaman
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2qEGEMg HousHEGD LwaTLDGs Cousdi(Bb. ULRSET euanTUSHE,
Guendd LwaTuBHSseyLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@iy : Geuelamssier mrevig LGS smer Qaramg.

Note : This question paper contains four parts.

U@3) - 1 /PART - 1

GOuY : (i) Semensg) ailamssensEih 6l welssa b, 14x1=14
(i) Gar@ssini’ 1 mreng aSlen safle Wasab ghusLw e ulaer
GainbsBss GO HLar oL timenyd Coisg erpsaywb.
Note : (i)  Answer all the questions.

(1) Choose the most appropriate answer from the given four allernatives and
write the option code and the corresponding answer.
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1.

A=(1,2}, B={1, 2, 3, 4}, C=(5, 6} wpmib D={5, 6, 7, B} refle &Cp QanrBéss
UL eeusefler ergy sfluiren spm ?

(1) (AXC) < (BxD) (<2) (BXD) € (A%C)

(@) (AxB) < (AxD) (/) (DxA)c (BxA)

IfA={1,2),B=(1,23,4},C={[56}and D= {5, 6, 7, 8), then state which of the following
statement is true ?

(@) (AxC)c (BxD) (b) (BxD)c (AxQC)

() (AxB)c(AxD) (d) (DxA)c(BxXA)

fly=22—x arafled, flx=1)—f(x+1)=
(#1) 4 (@)2-2x (@) 2-4x (%) 4x-2
Let f(x) =%, then f(x—1)=f(x+1) is :

@) 4x () 2-2x € 2-4x (d) 4r-2

whelgen eugsse geoars GCabpsapl vweu@sd. ahs Weva wpedar
seidas LD 9 -2 auEEGD Cung HmLsGb 1Bfaer :

(=1)0,1,8 (=)1,48 (@) 013 () 1,35

Using Euclid’s division lemma, if the cube of any positive integer is divided by 9, then
the possible remainders are : ;

@ 01,8 b)) 1,48 © 01,3 d 1,35

3 3562 (NS)

A=2% inhmth B=264+203 4262 4 +20 erens QarBssUUL (HETeTE.
Qeneu(neuaeupiles oTg o areno ?

(=) B -paigy A -gg oL 2¢ giflan

(=) A wHmid B F0ib

(8) B -=ypang A -g el 1 f&D

() A -Speng B - il 1 iflsid

If A=2% and B=2% 42634202 4 weeesie 420, which of the following is true ?
(@) Bis 2% more than A

(b) A and B are equal

(c) Bis larger than A by 1

(d). Ais larger than B by 1

a b’ z >
=+ -l LDQLJ %
2o h2 b2 S az Y

da
(1) a-b (=) a+b
(@) a-p? () 1

. i
5
21  B—a2

(8) a-b ® a+b
() a%-1b? @ 1
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6.

e By iewflulen, fleoy Blyed wrhm enfl : 9.
(=) e el (=) epenaail L yanfl

(@) Flre> sremil (%) By yasfl

‘Transpose of a column matrix is :

(a) unit matrix (b) diagonal matrix

() column matrix (d) row matrix

ALMN -é ZL= 60°, 2M = 50°. Guogyib ALMN ~ APQR erafléy /R -&r Ll :

(1) 40° (<) 70° (@) s0° () 110°
In ALMN, ZL= 60°, /M = 50°. If ALMN ~ APQR, then the value of /R is:
(a) 40° ) 70° () 30° (d 110°

L&A o drataurm O -aneu enoWnTsE Qaram aul L gfler P -& Qgr@Gar®
PR craflé), ZPOQ pang :
R

R

‘// \‘-,605 \\ .

‘ \ 10.

(1) 120° (<=4) 100° (&) 110° (m) 90°
In the figure, if PR is tangent to the circle at P and O is the centre of the circle, then
ZPOQ is:

100° © 110° d) 90°

11,

5 3562 (NS)
=11 erends QarREsiuC L CrrEGsm g6 SaUmLIeas) :

(=1) x -2655E Qenew

(@) Y -DNEsEE Genent

(@) Hluyerel aflFGsweun

() (0,11) - erenm yemefl cuflFbadain

The straight line given by the equation x=11is :

(@) Parallel to x-axis

(b) Parallel to y-axis

(c) Passing through the origin

(d) Passing through the point (0, 11)

tan 8 + cot8 = 2 erafléd tan8+cot? 6 -air AL

(=)0 ()1 (@) 2 (/) 4
Iftan 6 + cot 0 = 2, then the value of tan® 8+cot? 8 is :
@ o b 1 © 2 @ 4

24 Qs.8. o wraptd, 6 G&.5. praph 2w saflweareileanes Gelwuiule
@ sabliamer @ Anl Carerons wirpflamed, Carergdlsm @b :

(=1) 24 Gla.15. (<=4,) 12 Qe.18. () 6 Q=.. () 48 Qlaaf.

A child reshapes a cone made up of clay of height 24 cm and radius 6 cm into a sphere,

then the radius of sphere is :
(a) 24 cm (b) 48 cm

12 em () 6am (d)

[ Sgrays / Turn over
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12,

13.

14.

1| SID@GEET QI(PETar e CHMeTULIHEE 2 (ESHULIL®H 1, N GHET 4T LpenL LI
8 8w Ganear upgises bslUBHng erefla ry 1 r, :
(=) 2:1 (®) 4:1

(<p)1:2 (/F) 1:4

A spherical ball of radius ry units is melted to make 8 new identical balls each of radius
ry units. Thenry :ryis:

(@) 2:1 by 1:2 (c) 4:1 d 1:4

100 syas Ljeretlsafian ymaf 40 wHpib S ellessnd 3 aafld eNadsn safler
QITESE Sa(hgomang
(<t) 40000 (<24,) 160900

(&) 160000 (/) 30000

The mean of 100 observations is 40 and their standard deviation is 3. The sum of
squares of all deviations is :

(a) 40000 (b) 160900 (c) 160000 (d) 230000

g mde ausgésd (a, b, o ..., 2] -8 @EH @F Tpds Foeumiiiy
wapuia Garey GaILLLBEDE. SbS PSS * -6& WPHesI eT(Yigissatla
gamng @uuugnarer Hlabsse, :

23 3
(@) 13 (=) 15 @) o (%) o

If a letter is chosen at random from the English alphabets {a, b, ¢, ...., z}, then the
probability that the letters chosen precedes x, is :

12 1 23 3
@ 13 k) 33 © 7 ) 2

7 3562 (NS)
U@ - II/PART - II

GOy : eremauCuenib 10 dllamrésenée ellen walldse|b. eflarm arar 28 -&@
s Lmuwns afe welssa. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. AxB={(3,2) (3, 4) (5, 2) (5, 4} erafld, A DD B -& HraTs.

If AXB={(3,2) (3, 4) (5 2) (5 4)}, then find A and B.

16. f:N — N eram sy f(m)=m’+m+3 erar aueyuNESLILLLTD SiF QaTDi&E
GENDTET FMTL| TNE HTL(H&.

Show that the function f: N — N defined by f(m)=m?+m+3 is one-one function.

17. m wHHL n @AW erarset erafle), arHg m -6 WL |SEFHE 2" X 5™ eramy creir
5 eranm Gasssmss Aarar® apiguib ?

If m, n are natural numbers, for what values of m, does 2"x5™ end in 5 ?

n? ; n @ @DenD eraim
18. om Gsri aflesle Gurg 2muy a, - 3 ‘ .
l—z—; n Q(H BT enL_ 6remr
crafldy 3 -cugl LOHMID 4 -euFl 2 NIUILISDETE STaETs.

5 n? if nis odd
Find the 3 and 4™ terms of a sequence, if a, = 2 ’
T if nis even

[ #@mlus / Tumn over
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19.

20.

21.

22.

23.

124224324 o +10% - whHiy sreans. @HOmES 22 +47+62+ ... +20% -
wal srars.

Find the value of 12+22+32+ ..... +10? and hence deduce 22+42+62+ ... +20%

9x2 4 3kx +4=0 erenm @)U FFwETUIM g6 ep@miser Gl hmid Foih erafle)
k -air AL STeRTs.

Find the value of k for which the equation 93+ 3kx+4=0 has real and equal roots.

( \6 =J
A=|—=V5 2| crafle —A -Gar Haomflred wrHy o@faus sreamns.
V3 -5
V7 -3)
If A=|—+5 2 | then find the transpose of — A.
V3 -5

Qeneugpeuareuedr AABC -uler AD <yeng), £A -wen Gmawba g S@or
oram Gardlssa|ib.

AB=5 Qg.5., AC=10 Qs.158, BD=15 Q#.15. whpib CD=35 GQe 18

Check whether AD is bisector of <A of AABC in the following.
AB=5cm, AC=10 cm, BD=1.5 cm and CD=3.5 cm.

(14, 10) wppwb (14, ~6) @Aw yereflsamer Qenard @ CridCari gen
smieneus ETeRTs.

Find the slope of a line joining the points (14, 10) and (14, —6).

24.

26.

27.

28.

9 3562 (NS)

1 + sinf
7 I = secl + lanf
Beossald : 7 — 5 ~ *

1+ sinf

———— = sech + tand
Prove Vl— wind

qm Garetsdlar ypuuriy 154 5.8, erefled wigern el b sTdms.

Find the diameter of a sphere whose surface area is 154 m?.

am SHamn sersCsragdler @guuriy 1386 .8 aalla e
yoluriSenens srewms.

If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface
area.

Bpsaramb srays@rshe eSis wHNID oifss Cspemas srans.
63, 89, 98, 125, 79, 108, 117, 68.

Find the range and coefficient of range of the data.

63, 89, 98, 125, 79, 108, 117, 68.

@i edarafLpm e menerudan 2 wyb, 2 yp wHND Qauellyp <3 se
parpGu 9 Qs.18., 3 Q.. wpmb 5 Q5.8 EL. H@TOW 2 (HEITESES
Caanauiu®b @mbiilen ser seTellenad Erews.

Find the volume of the iron used to make a hollow cylinder of height 9 cm and whose
internal and external radii are 3 cm and 5 cm respectively.

[ H@HUns / Turn over
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@S - 11/PART - 111

31.
@O0y : semauCugyd 10 slleinssends daLwaliésayb. dlam aar 42 -5@&
s muwons s welldEseaib. 10x5=50
Note : Answer any 10 questions. Question No. 42 is compulsory.
29. Aeranug 8 -m e @eomaurar Guid eramaefler semri,
B ereniLg) 8 - €Sl Geomeunan LIST cTomtsetian Semib, 32,
Lppb C saug GrieldumL ust aarsdiar sard e,
(AnB) xC=(AxC)n(BxC) eflurrésayLd.
Let A =The set of all natural numbers less than 8
B="The set of all prime numbers less than 8
C=The set of even prime number. Verify that (AnB) X C=(AxC)n(BxC).
30. A = (1,2,3,4) oppd B = {2, 5, 8, 11, 14} erevien @(h sewibseT erens. f : A — B
gD &y f(x)=3x -1 ereud QarDbaiiu’ [Hererg). Gésrmlenar,
i) @wysEHuLb
i . 33.
(i) L auem o
(ili) euflens Comgaafien seammb
(iv) eusnpuLL
Spfueuppre GhlssHeyn.
Let A = {1,2,3,4}and B = (2,5, 8, 11, 14} be two sets. Tet f : A — B be a function
given by f(x)=3x—1. Represent this function :
(i) by Arrow diagram 34,

(ii) in a table form
(iii) as a set of ordered pairs

(iv) in a graphical form

11 3562 (NS)

100 -&@ 1000 -&@b @ Cw 11 -od uGuBb Smardg @ud
erawraatlen sm(pge) &mewis.

Find the sum of all natural numbers between 100 and 1000 which are divisible by 11.

Sige: 6x + 2y — 52 =13

3xr + 3y — 2z

13
7x + 5y — 3z =26
Solve : 6x + 2y — 5z =13
3x +3y - 22=13

7x + 5y — 3z =26

Qetreugpd Logmiting Caremasafian B.QUT . sTars.
xA+3x3-x-3, B3+ x2-52+3

Find the GCD of the polynomials, x*+3x*—x—3 and x? +x%—5x+3.

2 2
x 10x 10y v
S ppimaiy 27 — i o M . - . . . o
yz y = L2 erenp Gareneuufer QUESEPALD STETE.
2 2
x 10x 10
Find the square root of the expression, _yz" - _y +27 - _xy + _Zz

[ mliys / Turn over
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35.

36.

37.

38.

2 ~1

2 1) ‘
A= G it | whmb B=| -1 4 | erafla (AB)T=BTAl eremuemgs sfiuriés
A 0 2
. =
1) -
IfA= e andB=|-1 4  show that (AB)' =B'A".
2 =4 1
0 2
Garewr @m sweul iy Csppbdaar g Himeys.

State and prove Angle Bisector theorem.

(=4, =2), (-3, k), (3, —2) wpmd (2, 3) S U PeneIseTTES CameRT
prpsréder uriueaTa) 28 & @@sdr aralld k -ular whiy srers.

Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are
(-4, —2), (=3, k), (3, —2) and (2, 3).

60 8. 2wyopsrer Guryrsdean o FAU S mpeH Com@GoHars edeT @
Aaé@a sbusder o &8 wpgw Sgulla Qpéss Caramt ser wepGw
38° wHmib 60° erarfle,

(tan 38° = 07813, /3 = 1.732)

erd s sLUSHIT 2 LTE®SS SHTENH.

From the top of a tower 60 m high, the angles of depression of the top and bottom of a
vertical lamp post are observed to be 38° and 60° re ively. Find the height of the

lamp post. (tan 38> = 07813, /3 = 1.732)

39.

40.

41.

13 3562 (NS)

G Lib 20 Ga.8. o drer GIf e MmeneT GuigeLd SeweRIg. Gauenamude 9 Gs.f.
2 WrsHDE Bir 2e1eng. b 5 @15, wipmib 2 wiyd 4 Qs 8. 2 enw @i Aflw
o arafLpp 2 Cars 2(meer Fd wu@wwns epp@n Gurg gpu@n Hier
2 wireeud sanrsH([Hs.

A cylindrical glass with diameter 20 cm has water to a height of 9 cm. A small

non-hollow cylindrical metal of radius 5 cm and height 4 cm is immersed in it
completely. Calculate the rise of water in the glass.

7 Gur g sefid g AfsQal airi a®is gl Lhser aenpGu 70, 80, 60, 50,
40,90, 95. FL ef&sL &rews.

The scores of a cricketer in 7 matches are 70, 80, 60, 50, 40, 90, 95. Find the standard
deviation.

Quei® Frrar Lsen sar apapwns Gy Cprsde 2 Hr LLGE DS
i) @rer® uvsesaigib ¢Gr sy HoLss,
(i) epswHiyseier QumsshUEn LET cramTamTas ElenL G&,
(iii) pswdiuseier ambsd ust raranTas Henl&s,
(v) @swdiyseller bz 1 -5 @QHES,
adw Aspsfaier Hapssasmand arems.
Two unbiased dice are rolled once. Find the probability of getting :
() @ doublet (equal numbers on both dice)
(i) the product as a prime number
(iii) the sum as a prime number

(iv) thesumas1

[ §muys / Turn over
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42. AB erémp GprsGar® @ sFssmet A wHm B Larelselia Gaul Gépg 44, () 22—8x+16=0 eranp @ Ilq& FOTUM g6 QUL LD auanyhg Sireflar

AB -6 pBLeTefl (2, 3) erafler AB -cin swanum’ qaanés &raRTs. BanenioanLIs Sans.
A straight line AB cuts the co-ordinate axes at A and B. If the mid-point of AB is (2, 3), .
find the equation of AB. I|VVG)

4 (=) y=2x2-3x-5 -Qen euayuLld a@mrbg SiFmarl LweuBsS

\‘-\ 22 —4x—6=0 eramm SwaT T g anang SiEse.

B(O,

—— \ (a) Graph the quadratic equation x2-8x +16=0 and state the nature of their

8y solution.
\‘\\ OR
%
L A (x,0) (b) Draw the graph of y=2x2—3x -5 and hence solve 2x2—4x—6=0.

~00o0-

u@S - TV/PART - IV
GOy : Siemensg alamssEsEn dle walsseon. 2x8=16
Note : Answer the following questions.

43. (o) Qar@saliu’ L p&Garemb ABC -19en @is Lasksaiea Hdsn % erem
4 \
Siewwywnn e agdaungs wasGaramd cumrs. | Sieney sy g]
\ /

SI060g
()5 Q5.8 @yrapeter eult SHlen enwwgHelmbe 10 OF.8. Qpraraeigyietar
uerafl el g a1l L SHHES AaTGHCHETEsE weayweynd. Gogib
QanHCanPeaier formsmars saréd(a.

6
(a) Construct a triangle similar to a given triangle ABC with its sides equal to 3 of

\
the corresponding sides of the triangle ABC, (scale factor g)

OR

(b) Draw two tangents from a point which is 10 cm away from the centre of a circle
of radius 5 cm. Also measure the lengths of the tangents.
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